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Note:-

that circle in front of that question number.

will result in zero mark in that question.

You have four choices for each objective type question as A, B, C and D. The choice which you think is correct; fill
Use marker or pen to fill the circles. Cutting or filling two or more circles

(D) (C) (B) (A) QUESTIONS Q1
S uf"'fi’ S oy The element - Uk 65% K(Q'L Uil 2 e |1
Nitrogen Oxygen Carbon Hydrogen makes 65 % of the total mass of living organism is
AT AT S # Mgt I RIS SR S e | 2
Organism Organ System Organ Tissue Cells perfoming similar functions are organized into groups
called
JQ AU $sZ = d’;u} ot APy u"f?g‘;u 3
Principle Law Theory Results The Hypotheses that stand the test of - (¢ Z_va’/ u:u:/“/u”{
time, often tested and never rejected, are called
P Vs S A Vel s T 4
Species Genus Class Order Augustus Rivinus introduced the Taxon of
DA N1 e, el PR SEAI 2
Centriole Golgi Ribosomes Lysosomes | Site of protein synthesis in the cell is
Apparatus
U HE UHA U NP b e SIS R berlznuml S| 6
Exocytosis Pinocytosis | Phagocytosis | Endocytosis | The process through which bulky material is exported from the
cell
23 2t - Ay Ut e AL SR T eS| 7
Telophase Anaphase Metaphase Prophase The chromosomes arrange themselves along the
equator of the cell in phase
39C 38C 37C 36 C Lé/yfﬁw/mé iIL L& Sk oz | 8
Optimum temperature for the maximum working
speed of human enzyme is
Jiks w’;/w g AK SR +thfK/b,? ¢ 9
Vacuole Nucleus Cell Cytoplasm | Process of Glycolysis occurs in
Membrane
£ (ft‘z /d‘” S Al ‘Lt'ndl.»"“'uﬁi_lzu;’/bd/a'ﬂuﬁ Uy <44 10
Magnesium Potassium Sulphur Nitrogen The element used for the formation of fruit and nut
in plants is
A ke R z < Je AR otz 40 | 11
The example of insoluble dietary fiber in human
Wheat Bran Beans Barley Oats food is
20 15 10 5 < Qe b Sy St A7 S o | 12

Rate of Transpiration doubles with how much

degree centigrade rise in temperature.
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2. Answer any six parts from the following. (6x2=12) - u:/f.faglﬁ L;lzlag;é}/ -2
Give any two applications of Horticulture in daily life. _q/ug =1L 7 ":g u:di'/'o/b/ 0]
Differentiate between population and community. -q/ug. J}u.’f &;}j;lu%jg (i)
Biotechnology helps mankind, justify. -q/cf, o [}/u Sest S (il

L LU S sl Gl L (v
Define quantitative and qualitative observation giving one example of each.
gt Sl E SIS e S P e ST ()
Explain why biologists report the result of their findings at National and International level.
bz S St e S nBTSEAE i)
Give two reasons for the exclusion of Kingdom Fungi from Kingdom Plantae.

Eucalyptus is harmful for other plants growing near it. Explain. -q/fugau uuﬁéiu»g Lbfluﬁ/lﬁ;,‘/"%lu'% (vii)

Differentiate between benign and malignant tumors. <Q/5!5 J}uﬁj/;f @}iﬁfn'cf/td‘ (viii)
Give two advantages of Apoptosis. o sinL Ul (i)
3. Answer any five parts from the following. (5x2=10) - “/“fguzén'ﬂég :_éf -3
Give two function performed by Cytoplasm. -q/ug Jbiln L (It E ()
Cell works as an open system. Explain. «Q):/'/_")L}}‘LL L“/?QML (L‘/@,;IJ»’ (i)
Show the effect of hypotonic soloution on animal and plant cell. -uf/u;/‘lguéylrbﬂ;,;’y{dfé Ungslusdl (i

el SU bt E S GNP S8 LA (v

Enzymes lower the activation energy of chemical reaction. Explain two methods.

e I SR E ST b o BTCTANL iy S e w Utk el MK, (V)
Birds have high body temperature than mammals. What would happen to the activity of a bird's enzyme if it is given
temperature of 37C.

S eolere B uls st e L Ui S S L3k 6 A1 (vi)

Induced-fit model of enzyme action is more acceptable than lock and key model of enzyme action. Justify.
Explain redox reactions in living organisms. <Q/:,>LZ; d/}ﬁfldjtfl@uﬁ ULl (Vi)
St LpE U Sl e L L 3 U g 1 o (Vi)

Compare aerobic and anaerobic respiration with respect to site of occurrence and final products.

4. Answer any five parts from the following. (5x2=10) - d/}fqménztég :_éf -4
Explain the effect of deficiency of Nitrogen and magnesium on the plants. -Q/:)L’a Ja!ﬁlé urd/ f"'"/;l‘fv*/’t Ku»,g (i)
AL Un G &AW e sy I SN AW Tl T U (»fl (ii)

If we supply inorganic and organic fertilizers to plants, which one whould be first available to the plants for uptake
and why?

Balanced diet differs with age and gender. Explain. 4}/@»&5-% 3ndjijV£ﬂ;i/lJ£ujl?’ (iii)
ce P ol St UL Ul sty Siry e PP SR (V)

Pepsin is a powerful protein digesting enzyme. It does not digest the stomcach walls, which are mostly proteins. Justify.

Give harmful and beneficial aspects of transpiration. «U’fium/}'ofﬁ Kﬁ/’gﬂ/" (v)
Differentiate between source and sink. -q/iu J}uﬁ bﬂwlwy (vi)

e e b P £ L e Ui UL Ut (i)
Patients bleed from the nose, gums and under the skin in dengue fever. Give reason.

.
Define universal donors and universal recipients. M/.@/Ju’*! d:vd"/xigul)/}id‘?}z}j (viii)
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Note: Attempt any three questions. (7x3=21) -u_/}/’“.wuzé .~,m,~uf:_ JJ/ -
3) L 0Pg = L s e Bl est Gt S 8L ()5

5. (a) Draw a diagram of internal structure of an animal cell and label it's any six parts. .
@) el S S e L& e W LS P S (2
(b) Which professions can be adopted after biological studies? Explain any four.
(3) el funtie £ pBign AU sty i ()6

(a) Explain three main types of organisms placed in Kingdom Protista.

4) Gl es P R pomd L (9)

o

(b) Discuss four phases of interphase during cell cycle.

@3) ¢ dnpsbed $eind A8 PR Tt Ui (DT

7. (a) How energy is released during oxidation reduction reactions in living organisms.
(4) U el f st SpUnp s S E R e (O
(b) Explain structure, location and function of any four types of Epithelial tissue.

3) S eorlos SIS Hig ks f 58 (-8

o

(a) Explain uses of enzymes in any three industries.

) Ui e BE P S ol (O
(b) Describe any four effects of malnutrition on humans.

(3) et f UL s S JE e s L T3 ()29
9. (a) Discuss function of three secretions added in the Duodenum part of small intestine.
@ e LA e e e L S (D)

(b) How blood disorder Leukemia is different from another disorder Thalassaemia?

Part 1111 Practical Part (v o

Note: Attempt any two questions (5x2=10) - u“/“/f".;guzé e Ul J/ Y
‘) Ut L U e (i b FE U e KU L Urr o T (L) 10
8. (a) You observed Flower of Brassica campestris (Mustard). Draw it's diagram and label any two parts.
@) e Sk U b LT (D)
(b) You observed Bony Fish. Write down it's four characteristics.
3) L EEREM A A I Kt SUTIOL T ()
9. (a) You have studied prepared slides of mitosis. Draw diagrams of Metaphase, Anaphase and Telophase.
B LGS S AT e TS L F eSS AT T ()
(b) You have performed the experiment of necessity of light for photosynthesis. How and why will you destarch the leaf.
B) U e U Gl f oK Y F e 2 Ly UL A KL Sl B sy & L T() 10
10. (a) You have performed the experiment to find the pathway of water in the plant. Describe the pathway taken by water
through the stem to the leaf by drawing the diagram as revealed by your experiment.
) L Fat G L UL s e IS 20 T ()

(b) You observed different types of Bacteria. Writw down names of any four types and draw their diagram.



